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HISTORY

Paper 11
Time Allowed : 1% Hours] ' | [Maximum Marks : 100

Note :— This question paper contains fifty (50) questions with multiple choice

answers. Each question carries two (2) marks. Attempt all questions.

1. Who among the following produced chopper tools ?

(A) Homo habilis (B) Homo erectus
(C) Homo sapiens (D) Homo sapiens sapiens |
2.  Which among the folléwing periods is associated with ash mounds ?
(A) Lower Palaeolithic - (B) Mesolithic
(C) Neolithic | (D) Megaliths

3. Mud bricks with a standard ratio of 1 : 2 : 8 were used for the first time

- in which of the following periods ?
(A) Neolithic ' (B) Early Harappan
(C) Mature Harappan (D) Non-Harappan Chalcolithic

4, Which of the following Harappan sites has produced evidence of water

harvesting ?
(A) Mitathal ' (B) Siswal
(C) Lothal (D) Dholavira

T.B.C. : 08/17/ET—II 2



e

gyA-uA 11
T 1% Hq2] [qufs : 100

Hre 79 UvE-uF H wEr (50) TEEEedd wA € | ToE WA & & () ¥ T el
e & IR A |

|, Frefafes § ¥ fFes gu Tem SR # @A T2
(A) & geitferd (B) @ 3EH
{C}ﬁﬁm | (D) @ s A
o frofafes § 4 R wE & WY U@ F Al B W © 2
(A) 9o TET (B) HEAEY]
(C) eraremd (D) H@rqrET

3 feefafes 8§ @ fFg F1 § 9EH AR 1: 2 3 % AN ARl Fed g8 H FEm
v ™ ?

(A) FAGTEIOT (B) YR ggol
(C) fomfaa ggom (D) TR-TSUE IS

4 freAfefEe # @ 59 s e WS W w6 oy e § 2
(A) e (B) HraTe |

(C) e D) e

T.B.C. : 08/17/ET—-II ' 3 P.T.0.



5. Identify among the following climatic zones where first urbanisation did

oceur :
(A) Wet zone (B) Arid zone
(C) Semi-arid zone (D) Moist zone

6. Professional mobility was .the integral part of :
(A) Rigvedic period (B) Later Vedic period
(C) Brahmanical period (D) Gupta period

T Who among the following historians identified the Painted Grey Ware with

the later Vedic period ?

(A) K.K. Sinha (B) R.S. Sharma
(C) B.B. Lal (D) A. Ghosh
8. In which of the following inscr;ptions Ashoka’s name was identified ?
(A) Sannati (B) Maski
(C) Gurjarra (D) Brahmgiri

T.B.C. : 08/17/ET—II 4
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9. Who among the following coined the term ‘Punch Marked’ coins ?

(A) P.L. Gupta

(C) James Princep

(B) Altekar

(D) R.K. Mukherjee

10.  Match the Mahajanapadas of List-I with the capitals of List-II :

List-I

() Uttar Avanti

(b) Dakshin Avanti

(e) Uttar Panchal

(d)  Dakshin Panchal

Codes :

(a) (b)
(A) (i) (ii)
(B) () (212)
(C) (ui) (tv)
(D) (iv) (i)

T.B.C. : 08/17/ET—II
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11.  Match the inscriptions of List-I with the kings of List-II :

List-1 List-11
(a) Aihole insecription (£} Heliodorus
(b)  Bhitri pillar inscription (i)  Pulkeshin-II
(e) Nanaghat inscription (izz) Skandgupta
() Besnagar pillar inscription (iv} Naganika
Codes :

(c) (b) (c) ()
(A) (£) (Z7) (£if) (1v)
(B) (it) (£22) (zv) (z)
(C) (1iL) (tv) (Z) (i1)
(D) (iv) (1ir) (i) (Z)
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12.  Match books of List-I with the authors of List-IT :

List-I List-II
(@)  Kiratarjunia (£) Banabhatta
(b)  Aryabhattiva (2z)  Bhaoj
(¢)  Shringarprakash (ifi)  Aryabhatt
(d)  Harshcharit (zv)  Bharvi
Codes :

() (b) () (cl)
(A) (iv) (iii) (if) (£)
(B) (zii) (iL) (&) (iv)
(C) (i) () (iv) (£ii)
(D) (z) (z) (£2) (tv)

13. Arrange the following archaeological sites in chronological order :

(@) Pandu Rajar Dhibi () Golbai Sasan
(¢} Prakash (d) Sarnath
Codes :

(A) (@) (b) (c) (d)

(B) (b) (a) (e) (a‘;J

(C) (c) (b) (d) ()

(D) (d) (c) () ()
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14. Identify among the following, the founder of the Vaisheshika school :

(A) Uluka Kanada (B) Ishvarakrishna

(C) Jaimini (D) Badarayana

15.  Which of the following sects was Aryadeva associated with ?

(A) Hinayana (B) Mahayana

(C) Digamber (D) Vaishnava

16. Assertion (A) : A large number of land grants were issued during the Gupta

and post-Gupta period.

Reason (R) : Land was available in abundance.

Select the correct answer from the codes given below :

Codes :

(A) Both (A) and (R) are correct and (R) is correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is not correct explanation of (A)

(C) (A) is correct but (R) is false

(D) (A) is false but (R) is correct

T.B.C. : 08/1T/ET—II 12
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17.  Black and Red wares are associated with one of the following cultural periods

in Ganga plain. Identify it among the following :

(A) Neolithic (B) Early Harappan

(C) Mature Harappan (D) Chaleolithic

18. Match List I with List II and select the correct answer from the codes given

below the lists :

List I (Terms) List II (Meaning)
(@)  Dabir (i)  Officer of justice
(b)  Barid (if)  State-laws
e} Dad bek (iiz) Intelligence officer
(d) Zawa bit (iv)  Secretary
Codes :

(a) (b) () (d)
(A) (1) (@) (iv) (if)
(B) () (i) (ii1) (iv)
(C) (iv) (iif) (7) (ii)
(D) (iii) (iv) (z2) (2)

T.B.C. : 08/17T/ET—II 14
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19. “The court of Balban, which was known for its strict discipline and stoic
atmosphere, was now turned into a centre foi' buffoons, pleasure-seekeljs,
dancing girls and musicians. This Sultan built a magnificent palace on the
bank of the river Jumna at Kailugarhi and began to live there in a world

of pleasure and rivalry.”

Identify this Sultan, who was a relative of Balban :

(A) Bughra Khan (B) Kaikhusrau

(C) Kaiqubad (D) Sultan Muhammad

20. Given below are two statements, one labelled as Assertion (A) and the other

labelled as Reason (R) :

Assertion (A) : Alauddin Khalji had broadened army’s base by discarding
all irrelevant considerations. Under him the army had |

become invincible.

Reason (R) : By his forts and military posts, Balban established law and
order in the main provinces of the empire from Haryana
to Bihar. Without this preliminary work, the achievements

of the Khalji era would have been impossible.
In the contexf of the above two statements which of the following is.correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correc‘t explanation of (A)

(C) (A) is true, but (R) is false

D) (A) is false, but (R) is true

T.B.C. : 08/17/ET—II 16
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21. Which of the following rulers declared himself Suitan of Delhi at Kara ?
(A) Tltutmish | (B) Balban
(C) Alauddin Khalji (D) Sikandar Lodi
22. Who laid the foundations of the new city of Jaunpur in .1359 2
(A) Malik Sarwar - (B) Mubarak Shah
(C) Firuz Shah Tughlaq (D) Sultan Muhammad Shah
23. Amir Khusrau was the discipline of VWhiCh‘ Sufi saint ?
(A) Khwaja Moin-ud-din Chishti
(B) Shaikh Salim Chishti
(C) Khwaja Nizamuddin Auliya
(D) Shaikh Nasiruddin Chiragh Dehlavi

24.  “When Taimur attacked in 1398-99, the Tughlaq Sultan got ready for battle,
but his forces broke up in the very first encounter, and the Tughlaq Sultan

fled from the capital leaving his women and children behind ?
Who was this Tughlaq Sultan of Delhi Sultanate ?
(A) Abu Bakr Shah (B) Alauddin Sikandar Shah

(C) Nasiruddin Muhammad Shah (D) Nasiruddin Mahmud

T.B.C. : 08/17/ET—II 18
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25.

26.

27.

Which of the Bahmani ruler shifted his capital from Gulbarga to Bidar in

1424 ?

(A)  Ghiyas-ud-din Tahmtan
(B) Shihabuddin Ahmad I
(C) Tajuddin Firuz

(D) Alauddin Mujahid

~ Babur had good knowledge of this language and had written his Baburnama

originally in it :

(A) Persian (B) Turkish

(C) Arabie (D) Urdu

When did Akbar divide his empire into 12 (twelve) subas (provinces) ?

(A) 1575 (B) 1580

(C) 1585 (D) 1580

T.B.C. : 08/17/ET—II 20)
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28.  Which of the following pairs of (emperor—tomb) are not correctly matched ?

Emperor
(@)  Babur
(b) Humayun
(c)  Akbar
(d)  Jahangir

Tomb
Kabul
Delhi
Lahore

Agra

Select your answer from the codes given below :

Codes :
(A) (@) and (b) only
(C) (e) and (d) only

(B)
(D)

(D), (e) and (d) only
(a), (b) and (d) only

29.  Match List-I with List-II and select the correct answer from the codes given

below :
List I
(Coin)
(@)  Mahmudi
(b)  Rupiah
()  Pagoda

(d) Tanka
Codes

(a) ®) (€)
(A) () (iv) )
(B) @ (iid) (if)
(& I ) @) (i)
(D) (iv) (ii) (z)

T.B.C. : 08/17/ET—II
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(i)
(i)
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(iii)

List II
(Kingdom in which circulated)
Vijayanagar
Delhi Sultanate
Gujarat Sultanate

Sur Kingdom
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30. The du-aspa sih-aspa in the Mughal mansabdari system was introduced

by :
(A) Akbar (B) Jahangir
(C) Shah Jahan (D) Aurangzeb

31. The author of Ardh-Kathanak (written in 1641) was :
(A) Bhimsen (B) Isar Das Nagar
(C) Chandrabhan Brahman (D) Banarsi Das
32. Itimad-ud-daula, whose tomb is situated in Agra, was the father of :
(A) Hamida Bano Begum (B) NIIJr Jahan
(C) Mumtaz Mahal (D) Zebun-nisa Begum

33.  Which of the following pairs (of garden and place) is not correctly

matched ?

Garden Place
(A) Shalamar Bagh —  Lahore
(B) Nishat Bagh —  Srinagar
(C) Pinjore Garden —  Sirhind
(D) Roshan Ara Bagh —  Delhi

T.B.C.: 0817/ET—II 24
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34.  Match List-I with List-II and select the correct answer from the codes given

below :

List-I (Sources) List-II (Authors)
(@)  Farhang-i Jahangiri (1)  Tek Chand ﬁahar
(b)  Farhang-i Rashidi (1)  Sirajuddin Ali Arzu
()  Bahar-i Ajam (@) Jamaluddin Husain Inju
(d)  Chiragh-i Hidayat | (fv) Abdur Rashid Tattawi
Codes :

(a) () () (d)

(A) (i) @) (iti) (iv)
(B) (2if) (iv) (i) (i2)
(C) @) (1ii) (iz) (i)
D) (i) (i2) (aii) (@)

35.  Of the following, where was not established the provincial court by Lord

Cornwallis ?

(A) Midnapur (B) Dacca

(C) Calcutta (D) Patna

T.B.C. : 08/17/ET—II 26
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36.

37.

38.

After the translation of his work on the Revolt of 1857 in English from London
was proscribed by the British government, from where was V.D. Savarkar

able to get it published in English in 1909 ?
(A) Canada (B) Germany
(C) Holland (D) Sweden

The first Engish man who was made President of Indian National Congress

at its session, was :
(A) Allahabad, 1888 (B) Madras, 1894
(C) Calcutta, 1896 (D) Lahore, 1900

Which of the following is not the Magazine/Newspaper of the Communist Party

of India ?
(A) Socialist (B) Ingalab
(C) Janvani (D) Nav Chetna
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36.

3.

38.

S TR BN I9ET 1857 & fage & @R H YHE o @ed § US| I H

R Ao % A, oL WAl 7 Fa ¥ IWR 1909 H AU H

wyaEr ?
(A) FrE (B) <R
(C) wevs (D) e

sfge wdd ®iE 5 g afudye # 9w o0 ey oA T 7

(A) T@EER, 1888 . H (B) W™, 1894 %. H

(C) wherrar, 1896 . H (D) @R, 1900 5. H

fre 8 A FEEy/EE S/ ARER-TT YR wEiRe O w Y T 8 2
(A) Hfae (B) g=ha™

(C) wamf (D) 99 =
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39.

40.

41.

How many Indians could vote after the Government of India Act, 1935 ?
(A) T% (B) 12%
(C) 15% (D) 18%

Which portfolio was given to the Muslim League leader Liagat Ali Khan in
the Interim Government (1946) ?

(A) Home (B) Agriculture
(C) Industries (D) Finance

Match List I with List IT and select the correct answer from the codes given

below the lists :
List 1 (Authors) List IT (Work)
(@) Chandra Mohan (i) Patherdavi

(b)  Sharat Chandra Chatterjee (i) Indu Lekha

(c) Jai Prakash Narain _ (izi) India’s Struggle for Freedom
(d) Subhash Chandra Bose (iv) Why Socialism ?
Codes :
@ ® © @
A @ ) (i) (iii)
B) () @ G (i)
© G () (iv) (iid)
O G G Q) (i)
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39.

40.

41.

1935 %. & WRa W&R SIfutEm & yvEn fFad yRdE & 3 a9 7
(A) 7% (B) 12%
©C) 15% (D) 18%

afee &M & T foarra ol ®f #1 oafm WaERr (1946) # wran faum fen
T 7

(A) & (B) Ffw

(C) &M (D) fa=

-1 &1 gEi-11 & 9y ghfaa Fife a9 98 W w3 T g 9 99
FIC

get-1 (PrEeh) geit-11 (Ff)

(@) W% A - ()  weRETEt

(b) ¥ReEG = @) g

(¢) SAVER AREY @) FfeA's W ER e

(d) guwES A () =& drafasd ?

e

(@) (b) (c) (d)

A) @) (iv) (i) (iit)

B) (@) (i) (i) (@)

€ G (i) (iv) (1)

D)  (v) (id) @) (i)
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42.  Match List I with List II and select the correct answer from the codes given

below :
List I (Person) List II (Movement)
(@)  Rashid Ahmad Gangohi (1) Dev Samaj Movement

(0)  Pt. Shiv Narayan Agnihotri (i) Satya Mahima Dharma

(¢)  Mukund Das (#ii)  Deoband Movement
(d) E.V. Ramaswamy (lv)  Self-Respect Movement
Codes :
(@) (b) (e) (d)
(A) (2) (iv) (i7) (iii)
(B) (i7t) (i) (iv) (@)
(C) (@) (41) (iv) (ii)
(D) (i) (i) (i1) (iv)

43. Given below are two statements one is labelled as Assertion (A) and the

other as Reasons (R) :

Assertion (A) : It is stated that Swami Dayanand Saraswati was perhaps
the first who advocated the Swadeshi.

Reason (R) : He started the Shuddhi Movement.

In the context of the above statements, which of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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42.

43.

gei-1 % gEi-11 % WY gafaa Fieg a9 F& 3w #1524 a9

T
gei-1 (Faf) gt-11 (2Erer)
(@) T 3EHE TR () <9 TUW e
b) 9. fE ArmEe AfeEEE (i) wA e vy
(¢) HF< TH (fii) Qg e
(d) 3 . qEEr (v) ToH-TEEE AR
&HE
(a) (b) (c) @)
@a o (iv) (i) (1)
B)  Gi) (i) (iv) (i)
© @ (i) (i) (iii)
D) (i) (i) (i) (iv)

49 2 gaden feu TU ¥, UF HI FUT (A) Fe T T 94 §E R HAO (R) ¢

FIT (A) : T Fa 9@ 2 fF @ << 9t 7 e e 9Ee eyl @i
fearag =11

HAOT (R) : 567 9fg smerem g& f&an

0w Tl 6w H frefafed § [ wEw W@ oE 7

(A) (A) 3R (R) =Hi @& ¥, 99 (A) #t W& =& (R) B
(B) (A) @ (R) <F1 wé ¥, g (A) & W& e (R) & B
(C) (A) W&l &, fFg (R) 7o B

D) (A) Ted 8, g (R) 58t 21
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44. Given below are two statements, one is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : The colonial government offered constitutional concessions

regularly after 1858.
Reason (R) : It did not want the repeat of the Revolt of 1857.
In the context of the above statements, which of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

45. Given below are two statements, one is labelled as Assertion (A) and the

other as Reason (R) :

Assertion (A) : Indian Nationalism developed due to the use of Western

Education System.
Reason (R) : It could have never originated without it.
In the context of the above statemenfs, which of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true but, (R) is false

(D) (A) is false but, (R) is true
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44. e 9 s U Mg, w1 ®wEH (A) FE TR 99 g F &R0 (R) ¢

HUT (A) : 1858 . & =g Ml g 3 fafhd w1 3 9aufs faed o
IE F |

HROT (R) : 98 1857 3. o fagie = Srewe & =@ i)
I Al o god ¥ fefafad § 8 Fea wE g o2
(A) (A) @ (R) &F1 W&l &, @1 (A) &1 W& S (R) T
(B) (A) war (R) €HI w&l %, T (A) =1 §& =l (R) &l g
(C) (A) ®& &, f&g (R) T 2
D) (A) Ted &, T (R) WEl &I

45. 9 QA T Ky M E, TE F & (A) F@ T T AU W F wR0T (R)
FIT (A) : ufv=H e yonell & #R0 wWRdE Tear fasfa gen |
&®ROT (R) : 38 fom 9@ 393@ &ft of =8 & g&ar o)
SrdH SRl & wedl § Frefefen § ¥ wew w@ R 2
(A) (A) 941 (R) <91 W@l &, a1 (A) &1 W&l =& (R)
(B) (A) W (R) <Hi W&l €, fohg (A) ®1 Wel =mew (R) &1 %
(€) (A) w@ %, fog (R) T &

(D) (A) To@ %, T (R) 9&1 %I
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46.  Arrange the following in correct chronological order and choose the correct

answer from the codes given below :
(1) Resign of Congress Governments
(2) Quit India Movement
(3) Recall of Lord Wavell

(4) Cabinet Mission Plan

Codes :

a (2) 3) (4)
B) (@ (2) (4) 3)
© (3) @ @
19) M) (1) (4) 3)

47.  Consider the following statements and select the correct answer from the codes

given below :
(1) Annie Besant joined the Indian National Congress in 1915.
(2) Ram Singh, The Namdhari head was exiled to Burma, where he died.

(3} The Deoband school welcomed the formation of Indian National

Congress in 1885.

(4) The weapon of strike was used by Gandhiji during the Non-Cooperation
Movement for the first time.

Codes :

(A) (1) (2)
(B) (2) (4)
(C) (3) (1)
(D) (2) (3)
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46. frefafed 1 W FemraTeR gafed s qg = e T = 9 9@ sw =

T FT

(1) =" & TER FH @A
(2) ¥RA BE AR

(3) ©ME da H A" A
(4) wfaFe e @i

Fe

(A) (1) (2)

(B) (1) (2)

(C) (1) (3)

(D) (2) (1)

(4)
(2)
(4)

(4)
(3)
(4)
(3)

47. 9 gFaedl W faEr ®ifNT 991 w@ W F 9w G W@ w2 g s
T S¥e 1915 € § undg U wiw § wine &2

TR qieE T f9E 1 aaw SF an O a9 96 W IEH 9y @ |
(3) WA T FUE FT 1885 T H T & AW W A< WA | @I

(1)

(2)

(4)

(A)
(B)
(C)

(D)

T |

Ml 7 STAEAM NS o SN YW IR gedid &1 I9Am R
T

(1)
(2)
(3)

(2)

T.B.C. : 08/17/ET—II

(4)
(1)

(3)

37 P10



48.  Pakistan supported plebiscite for Kashmir, but refused it for some other states.

Which were those two states 7

(A) Jodhpur and Hyderabad (B) Hyderabad and Junagadh

(C) Junagadh and Hanumangarh (D) Bikaner and Udaipur

49.  Which of the following Number format is used in Foot-note/End-note ?

Ay 1. 2 8 s (B) a,b, e, ..

(C) A, B, C, .. (D) All these

50. Which of the following statements is not true about Gandhiji ?

(A) Gandhi’s scheme of education is the Nai Talim.,

(B) He wanted legislation to ban the cow slaughter.

(C) He wanted the ownership of state on all means of production without

any violence.

(D) He signed the last document on the Panchayati Raj.
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48.

49.

50.

iR 7 S S FRER o fa @ 76 fon, w59 9 1= & o =0

W eam 3 < T AW g 2

(A) SIUR T TWIR (B) TSR A9 MG

(C) SAMG q91 TIHFIE (D) &M q91 3TAR

fo= Sdt ffde §= (Number Format) 71 39am u-feuefy/sf<m-92 (End-

note) ¥ f&ar w1 & 2

A 1,23, .. (B) a,b,c, ..

o A8 G (D) 3 =4t

st F AR § 7 H 8 S HO W W g ?

(A) Tt =t foen whm T2 Ay B

(B) -3 < & & faQ 98 &M e 911

(C) 9 3ARA & 9w §EE R fEw-tee v @i wma o

(D) 399 AW TEEs T W W OEeR e
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